STRICTLY FOR CIRCULATION WITHIN THE STUDENT POPULATION

M3 Medicine End-of-Posting MCQ Paper 2005 (June-August)

1. A 54-year-old business executive has a cough for 3 months. He is treated with enalapril for his hypertension. What is the least likely cause of his cough? 

A. Bronchial asthma

B. Enalapril

C. Gastro-oesophageal reflux disease

D. Work stress

E. Sinusitis

2. Recognised symptoms of non-ulcer (functional) dyspepsia include the following EXCEPT:

A. epigastric pain

B. nausea

C. weight loss

D. belching

E. abdominal bloating

3. Features of metabolic syndrome include the following EXCEPT:

A. blood pressure 150/90 mmHg
DM, hypt,lipid,obesity
B. LDL-cholesterol 2.6 mmol/L

C. BMI 27

D. HbA1c 10.1%

E. abdominal girth 38 inches

4. A 45-year-old woman complained of increased abdominal girth. Abdominal examination revealed shifting dullness in the flanks with fluid thrill. What is the most likely cause?

A. Intestinal obstruction

B. Polycystic ovarian syndrome

C. Budd Chiari syndrome

4. Morbid obesity

E. Cushing’s disease

5. A 20-year-old man presented with sudden onset of breathlessness. On examination, his trachea was deviated to the right. On the left side of his chest, there were diminished breath sounds, hyper-resonance and decreased chest expansion. What is the most appropriate treatment?

A. Oxygen via nasal cannulae

B. Nebulised salbutamol

C. Chest tube on left chest

D. Naproxen

E. Chest X-ray

6. A 45-year-old businessman came home from New York. He presented with sudden onset of breathlessness. His respiratory rate was 20/min, blood pressure was 100/80 mmHg and pulse rate was 100/min. What is the most appropriate investigation to clinch the diagnosis?

A. Chest X-ray

B. ECG

C. Ventilation-perfusion scan

D. Arterial blood gases

E. Lung function test

7. A 35-year-old smoker complained of diaphoresis, light-headedness and shortness of breath. His pulse rate was 120/min and blood pressure was 80/60 mmHg. On examination, first and second heart sounds were heard and chest was clear. ECG revealed ST elevation in the inferior leads. What is the most appropriate treatment at the accident and emergency department?

A. Aspirin (oral)

B. Propanolol (oral)

C. GTN tablet (sublingual)

D. Paracetamol (oral)

E, Digoxin (oral)

8. The most sensitive clinical index of fluid retention in the body is:

A. raised JVP

B. decreased frequency of micturition

C. increase in body weight

D. pitting oedema

E. decreased urine osmolarity

9. Migraine headaches are associated with the following manifestations EXCEPT:

A. diplopia

B. dysphasia

C. paraesthesia

D. weakness

E. seizures

10. Hyperkalaemia may occur in the following EXCEPT:

A. Addison’s disease

B. Cushing’s disease

C. chronic renal failure

D. use of spironolactone

E. acidosis

11. Iron deficiency anaemia is caused by:

A. end-stage renal failure

B. dysmenorrhoea

C. carcinoma of colon

D. cerebral haemorrhage

E. chronic pancreatitis

12. The severity of mitral stenosis is best defined by:

A. loudness of first heart sound

B. length of diastolic murmur 

C. loudness of opening snap

D. presence of systolic murmur

E. loudness of second heart sound

13. Malignant hypertension is characterised by the following EXCEPT:

A. normal mental status

B. diastolic blood pressure >140 mmHg

C. proteinuria

D. microangiopathic haemolytic anaemia

E. retinal haemorrhage

14. Diabetic neuropathy gives rise to the following EXCEPT:

A. nocturnal diarrhoea

B. impotence

C. deafness

D. postural hypotension

E. mononeuritis multiplex 

15. ARDS may be triggered by the following EXCEPT:

A. pancreatitis

B. acute renal failure

C. pneumonia

D. severe sepsis

E. hypertransfusion

16. The cause of a left pupil being abnormally more dilated than the right is:

A. left Horner’s syndrome

B. left cranial nerve III palsy

C. glioma

D. tertiary syphilis

E. acoustic neuroma 

17. Raynaud’s phenomenon is most commonly seen in

A. rheumatoid arthritis

B. systemic sclerosis

C. systemic lupus erythematosus

D. polyarteritis nodosa

E. fibromyalgia

18. Parkinsonism can be caused by the following EXCEPT: 

A. CO poisoning

B. mercury poisoning

C. phenothiazine

D. encephalitis

E. Wilson’s disease

19. The following features are found in pulmonary embolism EXCEPT: 

A. tachycardia

B. tachypnoea

C. LBBB

D. raised hemi-diaphragm on the affected side

E. atelectasis

20. Hypothyroidism causes the following EXCEPT: 

A. goitre

B. hirsutism.  Should be alopecia
C. carpel tunnel syndrome

D. menorrhagia

E. deafness

21. Causes of massive splenomegaly are the following EXCEPT:

A. kala-azar

B. malaria

C. chronic lymphoid leukaemia

D. myelofibrosis

E. infectious mononucleosis

22. The following can occur in heart failure EXCEPT:

A. pulsus alterans

B. displaced apex beat

C. third heart sound
D. inspiratory basal crackles
E. prominent first heart sound

23. Psoriasis is least likely to be seen in:

A. nails

B. scalp

C. face

D. back

E. groin

24. Causes of pitting of the nails include the following EXCEPT:

A. psoriasis

B. alopecia areata

C. eczema

D. occupational trauma

E. pemphigus

25. When do most deaths due to acute myocardial infarction occur?
A. Between 0 and 2 hours from onset of chest pain

B. Between 2 and 4 hours from onset of chest pain

C. Between 4 and 6 hours from onset of chest pain

D. Between 6 and 8 hours from onset of chest pain

E. Between 8 and 12 hours from onset of chest pain

26. The most common oropharyngeal and oesophageal manifestation of AIDS is:

A. painful aphthous ulcers

B. Kaposi’s sarcoma

C. candidiasis

D. oral hairy leucoplakia

E. herpes simplex blisters

27. In alcoholic hepatitis, the following biochemical abnormalities can occur EXCEPT:

A. raised alkaline phosphatase

B. raised bilirubin

C. hyperlipidaemia

D. decreased prothrombin time

E. low serum albumin

28. Chronicity of renal failure is best indicated by:

A. coma

B. acidotic breathing

C. flapping tremor

D. anaemia

E. pericardial rub

29. Bullous lesions can occur in the following EXCEPT:

A. barbiturate poisoning

B. lichen planus

C. impetigo

D. psoriasis

E. porphyria cutanea tarda

30. Which of the following is the most common cause of CN III palsy without pupillary changes?

A. Intracerebral aneurysm

B. Multiple sclerosis

C. Diabetes mellitus

D. Sarcoidosis

E. Wernicke’s encephalopathy

